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  
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neutral soils slightly acid soilsNO3
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(NH4)2SO4

(NH4)2CO3

2NH4OH + H2O + CO3   (NH4)2CO3 + 2H2O 
(NH4)2CO3 + CaSO4  (NH4)2SO4 

2NH3 + H2SO4  (NH4)2SO4 
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HNO3 + NH3  NH4NO3 

  

Amides(NH2)2CO

Carbamide46N

2 NH3 + CO2  (NH2)2CO + H2O 

(NH2)2CO + 2 H2O  (NH4)2CO3 

(NH4)2CO3 + 2H  2NH4 + CO2+ H2O 
2NH4 + 3O2  2NO2 + 2 H2O + 4H+ 

2.5-Dimethyl-P-Benzoquuinone

3535

BiuretNH(NH2CO)2
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  

1NH3
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N2 + 3H2  2NH3  

CH4
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500

Anhydrous Ammonia

82N

Aqua Ammonia24N

2

HNO3

2NaNO3 + H2SO4  Na2SO4 + 2HNO3 

905

4NH3+ 5O2  4NO + 6H2O 

2NO + O2  2NO2 

3NO2 + H2O  2HNO3 + NO 

 
  

 
 
  
 


